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Drift time from the hitting point to the PMT = depends on the hitting point
——  coefficient = depends on the PMT and cable length......

C—  Raw TDC signal for each PMT
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LHRS SO : Left_TDC - Right_TDC vs X: Good Electrons
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* Fix one sO pmt

E Constant 2111 +32.6
2000

Mean 2898 +0.1

Sigma 2,596 £0.112 CoeffiCient

Determine another one
using (sO_It-sO_rt)
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” * Select an pure particle
sample in PID detector
* using TOF from tracking
and TOF from sO and s2
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Beta VS s2 X

tracking g VS s2_x(m)-- Before Calibration
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tracking p VS s2_x(m)-- Before Calibration

150

100

50

=
25 i— | \
2t
15 f—
- I
1= !
05 iLIIH, 'HIIIIH \FIIH\IIIII mu \IImIIII“I.Hm‘“W“-" | ||||‘|| ||||J II 1
o, PR e g i, '”Tn. !
E I ‘ [N “I\ n. ||
_0_5}: I| I| l H ‘ndf n Iy
- ) ) I‘I
-15
B VS x_s2(m)-- After Calibration
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Time walk correction

A TOF VS TW effect A TOF VS TW effect
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Beta with TW correction
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For LHRS right PMTs in S2 carry
timing(both T1 and T3 )

L.s2.rt-DR.Retiming_L
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Right common stop depends on LHRS and
DR.Retimg_L is leading by s0?



Check calibration with coincidence time
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(L sO rt+L sO It)-(R _sO rt+R sO It)-2(L_s2 rt-R_L1A)
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